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(% net increase in crop area) = (% increase in dema nd) - (% increase in yield)
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(gross increase in production) =a + b
a = the net-increase-in-production

b= the increment in production required to compensa te the loss caused by the
shrinkage of crop area which occurred in various co untries ¢,

6 3 3
, 8 . 3 36
)y : 8+46 < K E 4 *. 3
: E : ,
3 ¢,
: 3 6 3 (@)
) 8 8 38(*
e M3 N 3 6 6 E
3 8 : 3 3C "&D3
@ 3 8 3
8+<44 4
( 8
7 8+<44 . 3 E2 3
<4 4 ) : <44
7 * 3 :

(#




6

), 3 *
3: (3%

3 C I'&D,

>




/)

I)(
3 3 C re&b
3 (' "0 3
1$# .= 3 7
6 6
X 8 3
<"t H) * : : @ 4 A:
oo 1(11.2#£.3
4 C I'(&D
4 3 E 3 3
(3A ((A OA 1A >A 6 ) 3 I*
#) + * : A: 1I(11.2#..3&
N 4 7
((
!
1
>
(%
0
DA 1$,#( ("

4 C I'(&D

(1



3 (B9
"0 -E .
= E 8 3 6
8 3 3
3: (3% "0, 43 3
8 = E,
0 3 8 6
3: (88 !0 3
) 3 &*l
nh I(11.2#..3&
14 &
&,(0
>6 18"
; C 0,1>
5
>6 #>H
66 > 1.#1
P |
PP 8 3,
4 C r@&D
3 E )., @ =@%*
C,,% (( I'(ID
3 O
3: ($%' !'O:
("(
(( C I'(ID
% 4 = :
8 3 L#H0 31 ($%
"0,
Lo C '('D 1$A
% 4 =
@ 6 e 3
6 : 3
3,4
I



3 3 L1$PL#0 Q
(" 3: (3% o1 7 6
6 % 4 -
#, | 3
C "&D, 3 # 3
6 M N,
9) 4 1 1.2#..3&
B4
14 &
(,#0
= ("(
> 1L&"
4 3 C (D
!
’ 3 3
6 3 3 3 3+
8 : 03
?2 6 )7 R ? 6 )R? s
M N 3 3: 3
3+ ) H *
6 ) 3 M N 2
R?*"
)
* 3 3 3+ 3
6 6 3 N
3+ ,
3 3 M ? +  N*
3 > ’
7 6 6 3 8 ( C I'&D
8 o 6
8 ( C I"&D,
© 4 )1"0*0> 8,
' M3 N 3 JH:6
o 6

©



D) * E (11.2#..3&
B4 . B4
oo E" x
14 & 148&
(,#0 $0A (H##
= 6 ("( $0A (1"
> L&" $0A 1L &!
c ; C 0,1> &1A &,((
> #># &1A (,1#
> 1#1 "OAPP > ">
P% Z =
PPI 6 6 6 3 C I'&D) 3
8 *
N)#
@ 3 7 3 ; 3
6 @)@'"(K @'"(3K @ '¢*) 3 1%
F) < G
4+ 6 4 66 S 666
I $4 & I $4 & I $4 & I $4 &
(&1 &it,!
; C ((,> (%, > ##
> "(,1 (.0
P36 3 KPP=: 3 KPPP?
)@%%* : 3 7 C4 ">p :
A 3
7 6 6 >+ ,
) 6 3 * % ,
3 7 ) 3 * C%
"D) 3 "™,

$



8) G Do ==

+ i+
| $4 & | $4 & | $4 &
= > | (0,0 >>
>
6 3
= : 6 '+ A
3 7 3 C% !"1D : %
3 7 7
< 6 3 3
3 3
K - 36 3 +
3 ’ 6 6 3 3
Cc (D 0+&'A :
@ ! 3
3: 3 7 3 7
) *) 2 * 3 ##2(!) 6
@ *,
3.
@ |
3: 6 3 6
3 6 , '
6
C I'(#D,
-6 6 6 C% '(D 3
8 6 6 : 3 BHB
4 , C% !I'(D !"&
6 6 1>+ )
@ 6



3) E C 4 * 4"
+$4 &
1>l
> >>
= I >"
: C #1"
5
> &'$
$ > &'$
P? : : 6
3C@!"(D C%% !"ID 6
N
? ) E
: *3 (%% "0 7
@ 3 )3 $ 3 (%
3 8
6 3 Cc "&D : 6 3 O 6 )6
O *,
1) *
BE"
(11. #.3 B A
& ! & #..32(11. H* E
! &
! = 1'% I(#,! >&,! il &#,&
? &
5 (0,> 1&(,! M0 (0 m(
4 6 (1>, 11(,> $1,& ' &> 10,#
39)1
* .3 7
) * : :
4 @ 8 C '&D
3 ¢( 3: (%%
"0 = ,
3 3 Cc re&b




) * 5 * : C
BE"
(11. #.3 B A e E
I & & #..32(11. L e
I . . .
o g (! 0>, &,0 ! 1>
5 . "
e (%% >$,0 &%$,% ,(0 !
4 @ 8 C I'&D
E : 3 @4
3 (G
(0N Dx 2 I &
B
(11. #.3
I#..32(11.&
C HO& # 0!1,0 S&#H& H#
>4 >$1,& 10&,! $.%
x (>&, ("&#,> 10(,>
4 @
N9= * 54 G"
I 6 3: (%%
"0 @4 3,1 6
) : X 7
3 6 ,
6 7,
3 (!
3 (! 6 3
((,
3:



#H * "4 4 G"
* I
4 G” o - 180 $
(112 I#..32 -
#..3& (11.& 13 &0
¢ &> &8
C J@4 " H&H )FF
4 | 10( | %
3 (& O 6 5
7 6 3
6 3 7 3 ’
(¢ * "4 4G"
* <
: |
' " " - |
4 G" @4 4 E E _ 180 $
! i ]
I(11.2#..3& -Zfé 1J&0
> >, (0A (. I
= > A ' g
4 I># &>A 0,$ 10
0> )31




3 )3 #
3 6 3
) 3 >
@ ! )* 6 3
6 3 )?*, 6
6 3
)Q %,
)* 8 8 381, 8
3 .
@) )
6
7 ((A 3
6 :
@ 6 7 8 ( 3
H JH* 3 &"! 27, <
3 3 3 6 3
) 6
!' 7 )
)
B4 # # BE" +$ #$ | " #S
BE" B E" % E "2
c 4 I I $#.
! #$4 & | ! #& 1 & $ A< 5
4 G
14 &
1 & L& 1& 1& & I<& +& &
(H# 1> &1# 0 #0 0% #! >"
(1" 1>l #1" $ >($ '0$ #1# 1#
> 1&! >> (" 0 10$ 1 $
> #& >'$" &# (#0 ',0$ (&& (81
e &,(( #1" (#>t I '0$ (Q( I#&
c > (1# &'s$ >'1 (> &# ,0$ & #(
#,"> (1 Il 0% 0% (.8
4
>'> &'$ (>1# 10 >> ',0$ #$ FF
0 1Y 0> (! ,0$ $( (#




(%' !0 3
3 ' : 3 8 (
3
(& @2 6 3
3 (>
: 6 . 6 3
7 )3
7 *
(D) * "t@4 @ 4%
" HSUWE" $#.5
@ 1&
@ (1&
7):
* ? 3 C "&D:
6
3 -7
! +
(IA )
1 7 3

“$ 2
'@ 2
3
3
E
6 3
3 +



*n

I(11.2#..3&

(F) *
4
B @ 4
B4 & : +
14 & | & . .
C " 1# &#H& M 11 V(>
>4 > $( V(2 111 L((
" &, #" 10( > L% ">
6 :
H 3 ('
7 C "D,

8 "5 4 (G"

5 %$G" 5 % % 4 $G"

C ,01 ("& (#,00 0,"1
>4 01> * #."( 0,'#
o > ($,1 >,8% (.,0#
4 +1 1 6&,

3 (0 @ 2 6 I'

+
3 6 3 (1, % 6 3
3 6 3 0, 3
3 ("
3+ 3 3 6 3+
6 :
6 3
value of byproduct from1 tonne crop
B value of 1 tonne of crop
8,

3



3) * 5 A - )( 11.2#..3&
4
+3 %
" G" % . 4
+ _— 4 E * :
RPYP $G" $G" 4 E #
5
C V(> &'$ #,>! 0,"1 11A (F
>4 L &'$ &,&> 0,# >1A (#
L &$ (# o (A | on
31
€y *
" HS %
4
$#.5
(D
/1
D)
! #3$%
@
6 ) 6
I'(&D*, 6 % (@0 < 6
3 >"A 3 1&A
"A 6
&
6 3 5 :
+ ; BHB
6 3
4 5 6
3 6
8 3 H:6



6
3
3
3
, H:6
I
3+ +
6 3
6 3
6
3 3
3
3 I'A
&
8
7
3
8 4
3 .
+6
33 )
H:6 3
8
S A
= E : 3
3 @ +
3: ($3%1 I'">
8 ,

3
S5,
3
3
&
7
3
6 )

8+46 <



= E
.
@
C I"&D
7 3
8
6

7

C
6 1
C% !"1D,
3 8
3 3
($$'
3

I'&D

@5



K 6
< 3 8
< 6 6 ,
3
) * 3
3 $$ 10,
3 8 : 3 ,
3 D" 5%
4 /1" +3 % ! 4 (# " +3 %
E" )
6 3
, = 8 8
6 3
33 ,
@
3 7 6 , 8
33 6+ 3
+ 3 3,
% & #$%
? < )<*
3 8 , 4
< : 3
) 3 3
) 8
7 < A
| 6 3
, 3
, H 8
3 , 3 8 3
I 6 ) *
3 7 ,
3 8 8+
46 < 8 4 \
H:6 '
B 3 )
:E*’



3+

%

A * 11} 5 Il5
" HSWBE" " HSWE"
$#.5 $#.5
1 , + L
>" >>
= 11# 1'(
> $ $
("$ @
, C I#& $"
> #( &&
& o
> 11 >l
+$ % S$% 4
4 $4 $#.5
5 "
¥ -
C 1 (1
>4 (! (!
&$ &$
6 3
3
8 ?7 6
3 3 :
8,
3 ,
7 3 O
YJH* ,
H 3+
3 7 3




c= (D= . M 7 >t =

3 I'>T N 1 %, ) *

W(* 7 | % 6 I @ |,
C '(&D, <
6 < , 4
3 ?B 9 73 @ 4 H
<99,
22 . .26 2 2 2(A! Al Al' Al'
c@'"(b,B 3 r'( '@ r'C,
C @ !""(3D,B 3 I'( 'L
@ e,
C@!'"('D,B3 I'( " L=E
'c,
C @"(b,B 3 + ($%% +1"> 3
6, @
22 , , 2 2 2 1'(244U4 U u: , ,
@ +
22 , , 2 2>1"2? 7 ? , 8 T% 70Q>1"V
96 3 !'(l,
C=B !"1D = B W X
22:::.3.,6,32 2 2 2 2 23  UI"12
3U3
C% "ID!"1 % B 9 B B 6 % 3
9 B B 6 % HA4, = ,
Y, 9 , 3Y,) %3 B4 ,
C% "#D"(&4 "1 % B 9 B B
6 I H Y 3Y, 46 609, =
7 , 8 B,) *%3 % 4: E ,
C +ll 6&D + +< + @9 I 3 | +
| 6 % : 8N
& < #$> 9L, 6 3 22 ., , , 23 +
2
C '"(DH , , , Y 3 , = )
B E @, , M= : BHB
B 3 < , 6 6



c o . .H .Y
3 N, < H0(" 9,
C '#DY, @6 , : % +B
3 3
c3 1O 3 2 I
= 0w @ 3 I
) % %,
C: r@p - 4 N
3 2
4 B3  ($ 0$+0(
c 1D H . .4
% 4, )(* 8
e - 8
= #)1* $0+3(0,
Co?+@"(b@ ?»+ @ @ 7"
N,
C% (D% 4,, , H
(M6 :
4 N L % (o
c4 "SD. 7 %B ?
| | 6
6 K 1",

I##0& 9

3 O
,10,BZ

4

B

&&



&#



? 6 : O 3 <
3 )P*"0"1"0% (" ((

yP* 3 : "o 3 33
< 6 3 ,
3 6 2 2 .,
@ 3 6 3 <=7 ) 2237 , %
% 3 @ Do 17 s
G 3 3 8 )&>I*1$ 1$+#1">0,
1"H#S% I & % ()
H 8 3
Y* 3 % 7 7
83 %3 @ <
P#HL&H# L8!S
<L4 L 4 49 (0&(+$#1#) * 449 ((0+>>$&) *

4=9 $"0+$!+"$+#>0'$+> )%? *

4=9 $"O+$I+"$+H#>0(+()  *

(g2






